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2 JAAELICH MX| 52 valuesE AN changing values into behaviorsE AX a visual
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How you focus your attention0f 29t O|OF7| Y L|C}. Attentional spotlight is widened St turns
down the stress levelSt1l into a broader perspectiveStil the bigger pictureSt2 £ having a

larger view of an experience beyond its stressful aspects?t MZESICH M HE 5 QYA ELICH
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#24 overtourismO| things become more complex2tCtl StL| overtourismO| not simplyStCh= M

X7F HEY & AMSUCL

#25 E=0| 42 of7t XNEg+5 X7 22t7te Rgs EYLICL
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#26 earned his doctoral degree © 20j in 1939, and then he took a job at Bell Labs2t1 g L|C}.

#27 Booking must be completed no later than 2 days before the day of the tour2t1l S22 T

ofefol 7HsotR| L.
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How children learn to readOf| st 2 L|C} Design features?t predominate SICH $HL|Ct 12
1 readingO| more complicatedStCt @ L|Ct Printed textOfl was focused T2 UHELCE Oy

sketches or pictures= adjunct@Ct BHL|Ct Reading2 not simply word recognitionO|2t1 S}L|

23} DH2tel 29

word recognition printed text2 with sketches or pictures as an adjunct@t H 552 Ao
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A musical score0 &gt 0|OF7| 2 LICt Sound designers= uniquedtX| 2t composersE familiarsh il
recognizableStCd SFLICH =2 recognizable contextStil familiarity allowsStOd acceptableSt
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invariably®} isolated7} &2 &, 2|1 setting or contex

BHSO0| Bs MEo|2E & = JABSLICE

X|22| Li&2 invariably, isolated 2 LICt. [F2FA] consistently, precision, definitively, unique2 Lt
Ettt ] 7He| MX|7} Ot any number of them could be substituted for one another without loss

7t HEg =+ ULk FsUCch

O] X| 20| 7tetELt =721 O|f= MX| ot A2 W4T R YULICE cyano 2 HA|SH
H 78 MX1o] # FH 7HX| Y HISHAH Eo2t YD WS AX| RYSLICE HE MK
O any number of them could be substituted for one another without loss =8t o HEH MX|QIX]|
HastA HYstE RS SLICE T2{L} setting or context, determinate, particular situations2
O|0j{X|= ZE0| consistently, precision, definitively, uniqueZ O|{ZICt HZ3{ 1 [atA 58 MX|
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the streets she travels onif W2 A Z+2 S=0|2) MZREL|CL

oMLl £ 22 JEHER 2 I 9 g2 HE /0| B3 Ho[=7t e HO|L I
AHW 20 3482 U 22 & 7tE ol3E ME O EX ¥A HotE + °'Eh- dzetict
TEHO[ALL WEs Y| gX| @2 XES0| fXoHE 517 HE0 M= Hs ZM=z HES
YotE= NS ot Ut otef s 4 7L X[Z0] ofH O|0F7|& f_' UEX| mpef
ot= 0] HA| it Ao AL AlY ELZ| 12 © =30 tis 7t 8 U2 sz X
1 OMR 7tEE Mz |= HE A Z5UCh



HX= 33N 4707 Hio W=, 1707 HEe Moz HS|H FX|T 2717 £S5k 2717t
St HEfOIOfM 17h7F JEO| El= Ao #=E ArF YUE A ZsUCh oo ot #H Xl

ojop7|= =0 E7td 7|2 245 O sl2 20 7|=7t &E GARASUCL

#35
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FO Tl 2&2 negotiation0| an acceptable outcomed| =E37| /8l conflicting positions&

exploreStALt reconcile 3t2i= A2 FolE & ULt LCL

HEZ2 B 32 CE A&St= Z27t B7|0| BRE AI{EA|Ct These and sometimes other forms
of negotiationO|2t=Cf| theseZt X|&HE = U= CHAO| FO{T EZ0| =s| QUCtD M2 EL|CH
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